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PHYS 110 1 EXAM - 11/4/1430H - Time: 90 min.
Student Name: , Studant Number: "~ Section:
Q.1 102 milliseconds is equal to: . " ST
(A)10°s (8)10? s (C)10's D)1s 1Ey107's
‘-.\\W "
Q2A cubzc box with an edge of exactly 1cmhasa volume of (volume = edge”)
(A)1O m (B)8x10° m° (c):z?xw m® (D) 6.4x10° m® (E) 4x10° m®
Q.3The speed v in mis of a caris given by v:br“ where the time t is in seconds. The unit of b is:
(A) mis* (B) ms (Cymis (D) m/s® (E) m/s?
¢ , % — 2
\Q_.4 The instantansous acceleration g is given as:
| dx d (dx d? ddx i d’ (dv
A — A B === . }——( S (%) ey E) —|—
dt dz‘ a’r dt dt di=\ dt
0.5 A partic Ie is moving al ong the negative x-axis with constant velocity. The magnitude of its acceleration is:
(A) -9.8 m/s? (B) constant ~ (Cyzero (D) 9.8 mls T T(Ey'980 cmvs?

Q.6 A car moves along a straight line with velocity in m/s given by v =z‘2 +2 .Thevelocity at t=0 is
(A) zero (B) 4mi/s . {C) 3mis (D) 2 mfs (E) 6mis

2.7 Referring to question 6, the accelerat ionofthe carati=2s is: ’
(A) 6 m/s® (B) 8 m/s? (C) 10 m/s* (D) 12m/s? (E) 4m/s?

Q.8 The position of an object is given by x = 4t + 2t°. Its averagﬂ velocity over the time interval fromt=0to
t=2sis: .
(A) 8m/s (B)10 m/s (C)Y12m/fs. (D} 14 mfs (E)18 mls

Q.9 A particle is moving along a straight line. At t=3s its velocity is 10 m/s and at t=8s its velocity is zero. The
average acceleration is: .
(A) -8 m/s? (B) -2 m/s* (C) -3 mvs’ (D) -4m/s® (E) -5 m/s?

Q.15 A car travels in a straight line with an initial velocity of 2 m/s and an acceleration of 2 m/s* . The distance

traveled in 4s is:
{A)38m {B}40m (C)24m (D) 28 m : (E}32m

Q.11 A car, initially at rest, travels 16 m in 4 s along a straight line with constant acceleration. The
acceleration of the car is:

(A) 4 m/s? (B) 5 m/s® © (C)6 m/s’ (D) 2 m/s” (E) 3 m/s?
Q.12 What is the initial speed of a car moving a distance of 80 min 6 s if the final speed was 5 m/s?

(A) 18 m/s (B) 10 m/s . (©)5 mls ~’? ) (D) zero (E)20 m/s
Q13 A basebalt is thr% verticaﬁy up into the air. The acve!erauon of the ball'at its hxghest point is:

(A) zero ;.. (B)19.6 mis (C)+9.8 mis® (D) -19.6 m!s (E) -9.8 m/s?

= N O

Q.14 An object is thrown straight up from ground level with a speed of 50 m/s. Its height after 1.0 s is:

(A) 151 m (B)51m (C)45.1m . @Dy’ I1m (E)25.1m

Q.15 Referring to question 14, the maximum height is:

(A)10.2m (By127.6 m (C)816m AD)459m (E)204m
Q.16 A stone dropped off a 150 m high building reaches the ground in: ’
(A)391s (B)2.86s (C}1.35s (D)5.83s (E)4.95s
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Q.17 Referring to question 16,the speed of the 'stone just before reaching the ground is:

(A) 54.:2)315 (B) 48.5 m/s (C)38.3 s (D) 28 mis (E) zero
Q.18 Avector A has x-component of 10 m and y-component of 5 m. The magnitude of this vector is:
(A) 14.14 m (B) 18 m {C)22.36m (D)35.12 m (E)11.18 m
Q.19 A vector has a magnitude of 10 units makes an angle of 30° with the x axis. lts y component is:
A) B units - (B) 9 units (C} 5 units {D) & units . (E) 7 units
Q.20 As shown in the figure , if the magnitudes of A and B are 10 units Y
and 5 units respectively then the x-component of the resultant of 4 and Bis: B
B 507
4
(A} -10 units (B) -15 units (C}) -20units (D) zero (E) -5 units
\Q.21 The scalar product ;] is equal {o:
Ak (B) 2i ©1 O ij “(E) zero~
Q.22if A=4i—1 0} then the vectar ¥ A4 is:
A) 2i-] (B) 2i-5] (C 2i—4] D) 2i-3j () 2i-2]
Q.23 Two vectors are givenas A = 4i ——2'J:+f-£fc and B =-§+3+ 4k . Theresutof A-B is:
(A 5i-3] (8) 4i-3j (©) 3i-3] (D) 2i--3) C(E) - 3}

Q.24 If the magnitude of a vectoris 25m and its x-component lsf 10m. The angle it makes with the positive
x-axis is:

(A) 48.2° (B)634° (C) 66.4° (D) 60° (E) 56.25°

Q.25 If the magnitude of two vectors are 10 units and 5 units and the angle between them i is 60° then their
scaiar product is:
(a) 100 © o (B)125 (C) zero , (D) 25 (E)75

Q.26 Two vectors are given as A = 3}-1—4?( and B=- ;.T} , their scalar productvz : J;’: st
(A) 4 (B)5 ()6 (D)7 e (B3

Q.27 The vector product ]xf is equal to:

-

A ] (8) —i © k (D) 1 (| -k

.28 The value of i: (kx 1)
@) ] (B) 1 . © k (D) zero (€)1

‘‘‘‘‘

Q.29 Two vectors A = 8f+8] and B'-'—Sl their vector product | AXB st
(A) 48k ®) 42k -~ (©) 36k (D) 30k (E) 64k

Q.30 If the angle betweeén A and B is 30°, and A = 5 units, B = 5 units, then the magnltude of the

vector Product AxB is: A
(A) 15 (B2 (C) 25 (D) 30 (E) 35
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